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TNPSC DEO MAIN EXAM – 2023 
WALKIN TEST - 1 

 

Total Marks: 60               Time: 45 Mts  
 

Section A 
3 x 10 = 30 

Answer the following in 150 words each 
 

 
1. Answer the following questions 

gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. A soap factory produces 9600 soaps in 6 days working 15 hours a day. In how many days 

will it produce 14400 soaps working 3 hours more a day? 
xU Nrhg;Gj; njhopw;rhiyahdJ ehnshd;Wf;F 15 kzp Neuk; Ntiy nra;J 6 ehs;fspy; 
9600 Nrhg;Gfis jahhpf;fpwJ. ehnshd;Wf;F $Ljyhf 3 kzp Neuk; Ntiy nra;J 14400 
Nrhg;Gfs; jahhpf;f mjw;F vj;jid ehs;fs; MFk;?  

 
b. If the sum of two numbers is 36 and thier H.C.F. and LCM are 3 and 105 respectively. Find 

the sum of the reciprocals of the two numbers 
,U vz;fspd; $Ljy; 36 kw;Wk; mjd; kP.ng.fh kw;Wk; kP.rp.k KiwNa 3 kw;Wk; 105 vdpy; 
mtw;wpd; jiyfPopapd; $Ljy; fhz;f. 
 

2. Answer the following questions 
gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. If A : B = 8 : 15, B : C = 5 : 8 and C : D = 4 : 5 then what is A : D.  

A : B = 8 : 15, B : C = 5 : 8, kw;Wk; C : D = 4 : 5 vdpy; A : D - d; kjpg;G fhz;f: 
 

b. Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can empty it in 24 
minutes. If the tank is empty and all the three taps are kept open, in how much time the 
tank will be filled? 
xU njhl;bia ,U Foha;fs; jdpj;jdpNa KiwNa 30 epkplq;fs;> 40 epkplq;fspy; 
epug;Gfpd;wJ. kw;nwhU Foha; ePh; epuk;gpa njhl;bia 24 epkplq;fspy; fhyp nra;Ak;. njhl;b 
fhypahf ,Ue;J ,k;%d;W Foha;fSk; xNu rkaj;jpy; jpwe;J tplg;gl;lhy;> mj;njhl;b 
vj;jid epkplq;fspy; epuk;Gk;. 

 
3. Answer the following questions 

gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. The traffic lights at three different road junctions change after every 40 seconds, 60 

seconds and 72 seconds respectively. If they changed   simultaneously together at 8 a.m at 
the junctions, at what time will   they simultaneously change together again? 
%d;W Nghf;Ftuj;J re;jpg;Gfspy; cs;s Nghf;Ftuj;J tpsf;Ffs; xt;nthd;Wk; KiwNa 
40 tpehbfspy;> 60 tpehbfspy; kw;Wk; 72 tpehbfspy; xsph;fpd;wd. mt;tpsf;Ffs; 
midj;Jk; fhiy 8 kzpf;Fr; re;jpg;Gfspy; xd;whf xsph;e;jd vdpy;> kPz;Lk; mit 
vg;nghJ xd;whf xspUk;?  
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b. At present, Thenmozhi’s age is 5 years more than that of Murali’s age.  Five years ago, the 

ratio of Thenmozhi’s age to Murali’s age was 3 : 2 Find their present ages. 
Njd; nkhopapd; jw;Nghija taJ Kuspapd; taijtpl 5 Mz;Lfs; mjpfk; MFk;.  5 
Mz;LfSf;F Kd; Njd;nkhopf;Fk; Kuspf;Fk; ,ilNa ,Ue;j taJ tpfpjk; 3:2 vdpy; 
mtu;fspd; jw;Nghija taJ vd;d? 

 

SECTION B 
2 x 15 = 30 

 
Answer the following in 250 words each 
 

4. Answer the following questions 
gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. A bag contains 50 paisa, 25 paisa and 10 paisa coins in the ratio 5: 9: 4, amounting to Rs. 

206. Find the total number of coins. 
xU igapy; 5 : 9 : 4 vd;w tpfpjj;jpy; 50 igrh> 25 igrh kw;Wk; 10 igrh ehzaq;fs; 
cs;sd> mjd; nkhj;j kjpg;G ì 206. ehzaq;fspd; nkhj;j vz;zpf;ifiaf; fz;lwpaTk;. 

 
b. A can do a work in 45 days. He works at it for 15 days and then, B alone finishes the 

remaining work in 24 days. Find the time taken to complete 80% of the work, if they work 
together. 
A Mdth; xU Ntiyia 45 ehs;fspy; Kbg;ghh; mth; 15 ehs;fSf;F kl;LNk Ntiy 
nra;jhh;. gpwF> B Mdth; kPjkpUe;j Ntiyapid 24 ehs;fspy; Kbf;fpwhh;. ,UtUk; 
,ize;J Ntiy nra;jhy;> me;j Ntiyapd; 80% I Kbf;f MFk; Neuj;ijf; fhz;f.  

 
5. Answer the following questions 

gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. The population of a village is 32,000. 40% of them are men. 25% of them are women and 

the rest are children. Find the number of men and children. 
xU fpuhkj;jpd; kf;fs;njhif 32>000 cs;sdh;. mth;fspy;  40% Mz;fs;> 25% ngz;fs;> 
kPjk; cs;Nshh; Foe;ijfs;> Mz;fs; kw;Wk; Foe;ijfspd; vz;zpf;ifiaf; fhz;f 
 

b. The value of a machine depreciates every year by 5%. If the present value of the machine 
be Rs 100000, what will be its value after 2 years?      
xU ,ae;jpuj;jpd; kjpg;G xt;nthU Mz;Lk; 5% FiwfpwJ. ,ae;jpuj;jpd; jw;Nghija 
kjpg;G &gha; 100000 vdpy;> 2 Mz;LfSf;Fg; gpwF mjd; kjpg;G vd;dthf ,Uf;Fk;? 

 
c. In a leadership election between two persons A and B, A wins by a margin of 192 votes. If 

A gets 58% of the total votes, find the total votes polled.                                

xU jiyikiaj; Njh;e;njLf;Fk; Njh;jypy; A kw;Wk; B Mfpa ,U egh;fspy; A Mdth; 
192 thf;Ffs; tpj;jpahrj;jpy; ntw;wp ngWfpwhh;. nkhj;j thf;Ffspy; A Mdth; 58% Ig; 
ngWfpwhh; vdpy;> gjpthd nkhj;j thf;Ffisf; fhz;f. 

 


